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m;=140. MeV (mass 2)
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m;=180. MeV (mass 3)

F T T ‘ “ T
4+ - - il
L * - *
.o
r * o .
2 7 * °, .® ]
*o® o5 og® o0
* 0®%, o o O -
0 r ....l *® *0 -..o. 1
t ..l.l...........l.l.. 1
L o0%"  Eog,
-2 - g . e
L - -
o o e ©®
_4" | | e.® | %o | | 7
0 10 20 30 40 50 60
t
m;=270. MeV (mass 6)
40 ]
* o
)l al ' ' K ]
L o ¢ ° *e* ° * .
o i,
0 ;...ntm Sann” .Il-..]mm‘ ....7
L EEgooooomNN ]
-...°'- :"...-
| - .
ot " T, m 4
t - n -
L [ ] [ ]
_4 L L L | L L L L | o L L | L L L L | I L L | L L L L | L ]
0 10 20 30 40 50 60
t
m;=330. MeV (mass 9)
[ T T T T T T
[ - - - -
4r . . ]
I u " a
2 [ - ® LN = " ® - ]
¢ [T} ¢
I R2s Sosegh Boeeeg oo, 1
0 | ssonesetensnanifun=® "musfisenesedescac
i SO000500 30000, ]
L ° °
-2 r - - B
b ]
L. S S S S I ST T I O S SR N
0 10 20 30 40 50 60
t
m;=416. MeV (mass 12)
T L T
4r ] ] ]
b - .0 o -
° >
2 = * * 0 R4 * —
L ° °
*** ”. [ ] ] 0“ o,
- o -.:o -

-2 n " -
L n n
n n
L R
—4 L | | | L | |
0 10 20 30 40 50 60
t
m;=556. MeV (mass 15)
1 .5 r T ! [ ] tTT tTT T [ ] T T "
1.0 r * [ ] [ ] - 1
. o ° o ‘e
05} . o e, e 1
i oo = %, ]
0.0 [ansnseaanifEEE=="" TN
_05 ; ‘0 0"‘“‘:"““;"““"“‘0 0. ]
Q | °
[ * e -, * ]
—1 0 i * "0 e om 0‘. * ]
15; . . ]
[ [ ] [ ]
-20 Lo v
0 10 20 30 40 50 60
t



scalar—sc Relative Error scalar—sc Relative Error scalar—sc Relative Error scalar—sc Relative Error

scalar—sc Relative Error

m;=590. MeV (mass 16)
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